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222 -{(7-3)x9+3}+3

@7-3 @ 222-7 ® 3+3
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S % 61x9+61x2 9 AL Aol e Z2 o] A
® 9+2 @ 61x(9-2)
@61x(9+2) @ (61x61)+(9+2)

® (61+9)x(61+2)

B

61x9+61x2=>549 4+ 122 = 671 44t

@9+2=11
@61x(9-2)=61x7=427
®61x(9+2)=61x11=6T71

@ (61 x61) + (9+2) =3721 + 11 = 3732
® (61 +9) x (61 +2) = 70 X 63 = 4410




7

90 H

‘ 73 +32-15=90 (H)
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@ 52+ (85 —48) x 2 @ (29 +41)x3-53
® 200-(12+4)x6 @ (45-11)x4-110

@95+32x3—14

B

AR Ao BYA T AL BAT WA B Adtetn
ST AL 5] AR olu B} glod BeE

71 WA AR
@ 52 + (85 — 48) x 2
=52+37x2=>52+74=126
@ (29 +41) x 3 - 53
=70x3-53=210-53 =157
®200- (12 +4)x6
=200 - 16 X 6 = 200 — 96 = 104
@ (45-11) x4 - 110
=34x4-110=136 - 110 = 26
® 95+32x3-14
=95+96-14 =191 - 14 = 177
webA 7HE 2 e @ YU
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50-8x2+4+10+2

@50—8x(2+10)+2 @ (50-8)x2+10+2
® 50-(8%x2)+10=+2 @ 50-8x2+ (10 +2)

® 50— (8x2+10) =2

B ~

@ (50-8x2+10) +2 = (50 — 16 + 10) =+ 2
=22

@ (50-8)x2+10+2=42x2+5=89

®50-(8%x2)+10+2=34+5=39

@50-8x2+(10+2)=34+5=39

®50-(8x2+10)+2=50-26+2=37
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25 x4 +10+2 =105
30-45+9=25

@® 30-(45+9)x4+10+2=105
@ 30-(45+9%x4)+10+2=105
@(30—45+9)x4+10+2:105
@ 30-45+9% (4+10+2) =105

® (30-45)+9x4+10+2=105

25 x 4410 = 2 = 105 )| A,
25T Al (30 — 45 + 9) & Pt
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A7 S BT 18x 6 = 108 (7)) YUk,

108 + (4 x 3) = 108 + 12 = 9 (AHAh)
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27x14+18 =378 +18 =21
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